BRI E—E (L)

FRTEH \ o
o MR * 1 | #E | gE| R ()
1= FETSES | EE% | 75 1 (L 497.00
2B < V1> BESESH T BT R 45 B 6 5 =i 1,215.73
3 RMHRER S —IILFEH A ET 4 F1E 87 1 METEHD 2,477.00
A BHRER T — LT T R ET R 48 S E 87 2 METE 1,873.00
5 BT — LT T R ET R 48 &6 | 104 5 METE 8,424.00
6| BB A XA - Bt & — T B R 4 & | 142] 8 (L 552.00
T BB A XA - Bty & — B R 4 & | 142] 13 (L 1,525.00
8| BB A LR - Bty & — T B R 4 &E | 143] - Lk 628.00
o| BB A LR - Bt & — T B R 4 & | 145 - M 690.00
10| G A XA - st & — BT R 45 &E | 146 - M 348.00
11/[B< Y 13 > AEZE S T BT A 45 NaH | 191 1 MeTE 1,181.00
12/[B< Y 13 > AEZE S T BT A 45 s | 201 1 MeTE 569.00
13/[B< Y 13 > AE S ESH T BT AL 45 7 86 1 MeTE 316.00
14/ [B< Y 13 > AEZESH T BT A 45 7 87 2 MeTE 162.00
15/[A< Y 13 > AEZE S T BT A 45 7 122 1 MeTE 926.00
16/ I8 < Y 13 > FAE S E S T BT A 45 7 129 1 MeTE 644.00
17/[8< Y 13 > AEZE S BT A 45 7 138 1 MeTE 531.00
18/IB< Y 13 > FAEZESH BT A 45 7 142 1 MeTE 564.00
19/[A< Y 13 > AEZE S AT L 4 7 152 1 goEm 724.00
20|18 < Y 13 > EEE S AT 7 153 1 goEm 333.00
2118 < Y 13 > HEZE AT 7 154 1 goEm 97.00
2218 < Y 13 > EEZCE S AT L 4 7 159 1 MeTE 592.00
2318 < Y 13 > EESCE AT L 4 7 161 1 MeTE 445.00
2418 < Y 13 > EEZCE S AT L 4 7 163] 1 soEm 274.00

1/5~—3




BRI E—E (L)

FREH \ s

o HMEERT K N AE | wE|  OUUH )

25|18 < Y 1 > EESoE S F AT 453 i 164 1 S5 F M 464.00
26|18 < Y 13 > AESE S RSB L5 i 165 1 Sk F 552.00
2718 < Y 13 > BRSO E S AT 45 i 166 1 ko8 F 560.00
28|18 < Y 13 > AESE R RSB L5 i 167 1 k5 R M 617.00
29|18 < Y 13 > AR E R RSB L5 i 168] 1 k3 A 67.00
30|18 < Y 13 > AESOE S T AT 45 i 169 1 ko8 F 718.00
3118 < Y 13 > BRSO E R RSB L5 i 170] 1 HETE 259.00
32/IA< Y 13 > BESoE AT 45 i 170 2 S5 F M 691.00
33/IA< Y 13 > BESE AT 75 P AEE S5 F M 326.00
34 |BR e (BEEE) by d:in el ¢ RAiR 151 1 Eih 873.55
35| R BT L3 TA a4 1 HETE 358.79
36/ 4@ rR AT L TA 44| 6 HETE 242.00
37| rh BT 3% 7k 22 65| - = Hy 3,117.08
38| s Ly BT AHT 39 6 = Hy 1,658.68
39| s Ly BT AHT a1 4 = Hy 877.60
40| Eih 2L BT L 2T 128 1 =i 3,269.41
41| EREH s Ly BT BT | 143] 1 METE 209.00
42| MEREH s Ly BT AT | 144 - METE 710.00
43| ERE M s Ly BT ULy AHT | 145 1 1@ 1,002.00
44| 4EREH s Ly BT ULy AET | 146 1 =iy 778.37
e s Ly BT ULy AET | 147| 1 =i 154.74
46| 2K AT BB 132) 2 =iy 2,096.67
A7 pERE BRETAFERE | B | 16 3 METE 465.00
48| EKETATARE | BAK | 16 - AREER 224.44

2/5~—




BRI E—E (L)

FrTEHD . AR

o HMEERT * 1 | #E | gE| R ()

49 |Ei#h BARAETRFHIRG | BB 17 1 NERFER 239.84
50 HEfEHY EARETRFHIRG | JH/EE 17 3 METE M 55.00
51 NERFAERS AN ET SR i 28 1 NRABER 291.00
52| NIk FAE R ERAETER J113 28 2 IR FE B 271.99
53| NFRFIE R ERANET SR | 28 3 NIRAER 19.74
54| BB LR | 314 3 £ 338.17
55 Eih Pl +=ii | 442 6 £ 2,455.00
56 Eih Pkl +=ii | 442 9 £ 204.00
57 Eith Eapagi) F=AaE | 156 3 £ 416.36
h8 HMETEHY mg 75 HT FRE 13 - A 166.00
59 MEfEHY mg 5 HT FRE 164 - A 196.00
60 Eith F 75 BT AR | 145 2 £ 100.81
61 F A Eapagii) et 9 - FI i 2,668.00
62 Eih Epaki] JANDE 52 2 i 1,290.82
63 HtfEH F L BT ES =&T 35| 43 METE 253.00
64| i KL BT B7K 11, 83 Eih 2,492.47
65 HMETEHY KL BT = 1 2 MEfEH 321.00
66 TiHZZEHFEH AT KR 102 - M 1,365.00
67 FEib 3=ck) /iR 88| 10 £ 694.92
68| TiHZHHFEH 3=ck) B 85 2 M 1,123.00
69 TIHZFEHFEH: 3=k B 85 8 LAk 381.00
70 LGB RFEH -k B 85 9 LAk 654.00
71 TIHBEHRFEH -k B 86 1 M 1,408.00
72| LGB HRFEH -k B 87 1 M 424.00

3/5 =2




BRI E—E (L)

FRTEHE \ g

o HMEERT K N AE | wE|  OUUH ()

73 TEFHTFE i EE) Tk 88| 1 e 992.00
74 TIRFHRTE & &y Tk 89| 1 e 2,869.00
75 TIRFHT T EE) Tk 89| 2 e 2,073.00
76 TIRFHTE ) Tk 89 3 e 157.00
77 TESFRT T EE) Tk 90| 1 e 636.00
78| TIRFHT E EE) Tk 90 2 e 4,862.00
79 TIEFHTF T EE) Tk 91 1 e 3,141.00
80 TIRFEHF EHE & 5y Tk 91 2 ik 1,370.00
81| TEFHFTEH EHHT EHR 110 2 LR 2,451.00
82 THEZHRFEH & 5 gy e | 119 2 =i 1,248.94
83 TIRFEHT EH & 5 gy #5R 5 3 Lk 2,522.00
84 TIRFEBF EH & 5 gy #5R 6 3 Lk 1,946.00
85 TIRAHT EH 4 5 #R| 218 5 Lk 2,190.00
86 TIRFEHT EH & 5 gy #R| 218 6 MBI 378.00
87 TREBFEH & 5 gy ZRO | 2190 3 Lk 3,919.00
88| TIRAH T EH & 5 gy SR 219] 4 i 7,450.00
89 TIRFHF EH & 5 gy SR 2200 - i 773.00
90 TIRFHF EH & 5 gy RO 221 - i 3,343.00
91 TEHZHRFEH & B HT SR 2260 2 MBI 41.00
92 TESFHRFEH & BHT SR 227 2 i 1,453.00
93 TEHFHRFEH & BHT SR 228 1 ik 8,234.00
94 TEZHRFEH & B ET ZSRO | 228 2 ik 1,189.00
95 TIEHHRFEH & B HT RO 228 3 ik 629.00
96 TIEZHFEH & B ET ZSR | 228 4 ik 9,006.00

4/5 =2




BRI E—E (L)

AR \ O

o MR K CRE )
o7 TBEHTFEH = gy AR | 228 5 m 4,077.00
98| TiGHAKFTEHb E Bl xR 229 3 1IN 836.00
99| TIGHANFTEHb E Bl R 229 4 1IN 2,389.00
100 THFHT EHe = g &R | 220 5 m 1.236.00
101 THFHT EH P &R | 229 6 m 732.00
102 THFHT EH: P &R | 2000 7 m 661.00
103 THFHT EH: P &R | 230 1 m 8.537.00
104 THSHTEH o &R | 230 2 m 1.272.00
105 THSHT EH = s &R | 231 2 m 2.553.00
106 | TG F E ih EHA R 232 2 LK 5,230.00
107 | TG F Eih EHE R 233 1 LK 1,600.00
108 | TG F E ih EHA R 233 2 LK 5,922.00
109 | TG FE S8 &R 234 1 LR 8,317.00
110 TH3FE M S8 &R 234 2 LR 1,018.00
111 TESHT EH = @ &R | 235 3 m 349.00
112 TESHFEH = @ &R 235 4 m 751.00
113 TESHFEH = @ &R | 236 3 m 258.00

5/5 ~—




